MATH 163 Amsaens — Rediew PRo8Lems -

T vy A Rev, MAX, 4 — + -
@ CRTicAL NumMmaeds | L /e.! -('— = X ‘ ;‘ P

MN, S \IQ_ L

(\\ - 0 e A Rev,

@

{41\ ((zx*‘i _ (x* ‘\'\) )

< [ < -\ e‘ﬁ*_—
S%-.(e*)*ew - TrS e ay =T |3 €7 L tﬁ

®
<

"

o)

S%‘ W(S.Ni ~ces2 ) dX = (aVi-2) + (2+2Vx) :\4\(‘,{1

CCOSZ:: -‘Sn\lé)c‘lx T g

€
>

,
o /2

<)
n

=y

5 —

' S(x-\n)v -1 o\x:—-

\

E(T)_S T 4T (-T)AT L]
"Rz - jggr(/r.-r)n:@:}]

\

@@

@ al CosAX g ‘-J\sm*x dx = 5 (cscX—elS\Nx) 4% :\ﬁ\csc,x,—({rx‘ 4+ A Cos X +CJ
ax = (= e
S FEEE 4 S X
e R
: = = Sel
») gxsec"*xdx :uTANX%L'\I\CMK\‘%C.} (u=x, AV e &dx)
<) 452 _ax -9 d X S(Q\—r EX - 3_.- ax -—\&X-\-LN{QK*l\—&-gL:\ntx 31,\.Ci'
;F—sx_s ax*~5K-3
3) 4 Axriwj"/* M(us l+C\
i x /3 - s (X3 45

x2 e"’/&
\ o v \ < “:-47,"
) + L S —
= e % X e i T e /| AL du= %d’()
T—o" v _ )
S A &}
N
T —sa¥ e > \
Lietoo) v O-eTT) =7
= 4_(
@ ALS \\ ©) g 4 oeco N
a) = ) Y enAlRS \/(8 = 't (l‘f"‘ooo) - ."‘(.4..000) -(6ageo
N L. ) QLG , 600 -




MATH 168 ANIWERD — Reauvieuw PRGBLEMS A

\ ) % i ) 4 ;
@ al g A4 X dx =6 S ‘L:“; du :@ b)< _..X_._.___...* 4 dx :%LN(’\*«-SK‘%A)} =k~ 3
o o

(1)\1+\)3 ¢ - o X2 88X +6
a a) 35 \ \ \ L (muwne T RuiLe)
< Ax E6 b w6 v pi6 (Mot
. Y
) 4S iy o3 & v32 U1 (trafezowwAl Ruie)
g x\*s dX X ‘;LZ+K+\8 & 3
]
Y
_ . i o )
O = siwodia) + LN EP 1) - S K B Gex) s D a- S (Y+a-Y3) 4y :E]
\/l - aAX 4 e4x L L g . CosaX .6 -
R O 3INGX
— by ‘ B 4= 3inaB
€ \ 4 ) [ os 28 _ L Ldu =) —
& “)S x3 X dX =(“(;<3Q Hq i = = A8 7 3 TEl 13 du = Acsad db
X : S 268 E/‘\
(A =Y ]
Q P(T >;1) = \ - P(Tﬁ&) z \ - g .13_ Q“_r/.g (A/T - 6_2/3
Q
3 a) 3 _ |3 A b) ;
fxdx - §\f5'e:“(+8 + C ____iff_§ dx = S‘x N Lo ix-al +C
VSe® . g — x3 _ax2 S S o

@ a (— a2 ) o> . 3 _ (u \/—;
O E e eal e[ e T G
A

4 X =0

_[swe o
QO Prt) = too (4)/5  so PT) =60 wmed R e HM!

) ° 0 4
a) 4 3 .,-2X N
g x3 Q“lx dx = L“\/\ S X7 e ax = “’8
T -3 e
—o
A W3 These
o) a.‘\V/3 2 Tam X dx OwWekges (mu(c». eyTeR oF 1ne=k
S TanX dX = TanX dX + " I— INTecRALS o\veﬁses)
Q Q Tr/).
) A) swg |+ C 8) JAX ax
~ gQLsieL\Q (\GKOTG-\-M\:‘S\NG * & TN 3K +—e ces3X + C
Y P © — 7 S
1k . ™ =) {7 . o 2 . T
T Rt G ER
; B
2

&

e A=4% Sg XV —x* dx = {36 \ (u=9-x2, dus= —Qde)

s

W(q(\—i‘;))dx

A ) J = gs TEET dx = &S’
~5 &

1

o~
o
=

| e )
N N SST(H‘HY‘M - x"\\'(vu ) ay :TYS 1Y 4y =|6ATT
Q




